SHAFEEEM
R ERESHERE BT

1. EEE

2. BEEIG

3. FAMEEXR

4. FEBRE

5. ABE#HRY)

6. HERRA
(1)EBABRF
(2) A5
(3) HIAF i

(4) A FHH

7. sR#ENE
(1) JEH B
(2) Jm i35
(3) JE i Ft

8. BRFEHA
(1)EBABRF
(2) EHIA ST
(3) HIAF i

(4) A FHH

EFREEMEE

EFRBETHEFTLE/NAKB10

BE fiE]

#RES

9. ERE
(1) BH 1088 (%) 9BF309 ~
(2)35FT KRF B 15 R U R 55

10. HEKRE

SHAEEEFEGREHEGE FoNEMKRE (1) B F1BBERUVE4BBDRILZH
8RF305 ~9BF 155
BHX AH EZB | FimERERZ (2)1ZFR RE [ 3% 5 15 HERESE
%18 10A16H S| 12:25
%2H 108178 A 11:45 11. BEEHE AROEEY
%30 108188 X 12:05
%40 10823H = 12:25 12. FHERZ
%58 108 24H A 11:45 108168-238| 1 2 | 3| 4 5|6 7081 9|10 11
%E6H 108 25H X 12:05 EH TS| 11:35/12:10(12:45/13:20| 13:55/14:30| 15:05|15:40| 16:15|16:50| 17:25
FFE  [12:2513:00/13:35/14:10/14:45|15:20(15:55|16:30|17:05|17:40|18:15
10A5H (7K)
108178248 1 2 | 3| 4 5|6 7018 9 |10 11| 12
ST &S 110:55/11:30/12:05]12:40|13:15|13:50| 14:25| 15:00| 15:35|16:10| 16:45| 17:25
108 2H (B) 9FF~12FF FFE  |11:4512:20(12:55]13:30|14:05|14:40|15:15|15:50|16:25|17:00|17:35|18:15
BE [ 55t 5 15

DOHERAE QFXEHKIT
Q)% s

@DIRAD B EED HHT-BILIRAFKITD
i E RS

1BEIZDE200M

10A2H
B ] 5 5 15
OFLEREHE QAR R EFAE
R B #H AL 5T 5L
@Ew S EFREE

(B) 9oBF~12F%

10A28
BE [f) 5t 55 35
OEAFERAE QBFREFL
HEH. YEEECICEBFRER AN
FESNTNDEIZDONTIX., YD
BRBETICRIFIIZFIRETHIL,
1 AIZDZ200M

(B) 9EF~12FF

10R188-258| 1 2 3 4 5 6 7 8 9 10 | 11

EERPTEE S| 11:15/11:50(12:25]13:00| 13:35|14:10{ 14:45| 15:20| 16:00| 16:40| 17:15

HE 12:05/12:40|13:15/13:50{14:25|15:00{15:35|16:10/16:50|17:30|18:05

13. ZMith

(1) C2#k(E. 1FAE2HE

(2)EEHE. IRAFEHRRRE. S 2ROMEILEETREAT R E

() COFMITHARINTUWVENWEIEIFRFEHREBRUVREERELEIZLD
(A FREEOXBIE. (—)BEFREEXREFELTITVET  FHESHITDLTIE,
(—1) BEFEEFLICBREAVAEHLELEILY,
(B)SMEBDIRICH->TIIABAREL, HEFEZSD

(6)FEBFHICKY. ZCOBHICIHRINTLWSEL - HFLUF IOV . EETS
BENHYFET,

14, BE-HARE

KEEEE2022 JRARTERRE WEBEIGE FALIHBAM
(FE)EAEFEEREE M1) (TRBRIT—ILF—E)

1 HEE®K YSTLyFR2E

2 BIEEE 55kg. ttE kel

3 BEIE ALHHRE HASHERE. BAABEETRARSS
HFEMBEE ATEERRESSEE. MENBEARE

RE

EiE EEOEHE

E)FEIEI4—F+RRTYF(M3)

1 HEE®R YSITLYRFRSFLULEF—T2 ()

2 BIEESE A#56kg. B1#kLT54kg(ZEARMDIZE(X54ke)
3 BlE =M BE0SH.AEVBEAEE

ABSHEBUER
E)E15EYIT7AT7EM3)

1 HEE®R YS5TLYFRIFE

2 BIEES 56keg. ftE2kei

3 EIE ABSHEKEH.HEKBEERE

JRAZBXRFRFHE ILVF)—HyT
) AARTE

1 HEE®E YSTLIYRRBIRLUT
2 AREE 56kg. ttE2kelH

3 BIE MHEBBEERE

JRAZREBRET1—F¥—RATvS
OROA—74% 7|

EEFA

FERA

EaprAcd:ll



SMAEE Foh R

E &M

R B

(B FM)
il fill H 7 7 L P N kR
R I Hh it
X 4 A= AR B1#k B2#k C1#k C2#k 3% 2%
ek - B Z 1,600 1,600 @ 1,200 @ 1,600 ® 1,600 ® 1,600 31,200 @ 1,200 D 1,200 @ 1,600 @z 1,600 11 R
o 1,200 650 650 500 — — 300 -+ - J 6,000 - J 2500
1 B R0 228 228 - 175z # = # A 106+ #F — # " E’E 52100 T R 875
108168 5 240 #0130 130 #0100 8 3% M % #0601 3B M 3% 1 g,ﬂ Fd 1,2002 s B 500 22,782
\/) |= 5 | 120 65 65 50 = = 30 = = <o z 600 v * ﬁ 250
a7 60 33 33 25 15 P 300 7 | % 125
R - i # 1,700 @ 1,600 @ 1,600 @ 1,600 @ 1,600 @ 1,600 ® 1,200 @ 1,200 @ 1,200 @ 1,200 (D 1,000 ® 1,400 12 R
5 1,000 650 500 — — — 300 — — — 300 700
2 H . Y 30m 228 s B A B Ot B 5 1545 # t # A 105 B2 245
108178 T 00 130 # oj08 @ 8 @ o8 & oM g E g oE B 60 ® 140 9, 946
(A) |# 7 100 65 50 = = = 30 = = = 30 70
# 50 33 25 15 15 35
R - B @ 1,600 @ 1,600 @ 1,600 @ 1,600 ® 1,600 ® 1,000 @ 1,400 @ 1,400 @ 1,400 D 1, 400 Z 2,400 11 R
650 — — 500 — 500 300 — — — ¥ 2,500
3 = - w= F = £ VNN TCIE . -+ 175 - 105z & = £ i ~ 7 815
108188 #1308 M8 B B 100 2 18 100 @G0 & oM @ oM g Yoo 500 12,158
(CORNES 65 E E 50 = 50 30 = = = ~ 7 250
33 25 25 15 B 125
i - B @ 1,200 @ 1,600 @ 1,600 @ 1,400 @ 1,400 ® 1,200 ® 1,200 @ 1,200 @ 1, 200 @ 1,200 @ 1,20] 11 R
Pl 2,500 400 — + 400 + — 300 — -+ - 600 —
4 = l‘ . 85 - M0z F — 140= NO105 8 O+ B - el — 210 Cl = &
108238 [ 7 » % 50 B 80# B M 0H B LR B ®@ 120 @ #& [ 11,050
(A) |&ls » = 250 40 = 40 = 30 R R R 60 R
<k 125 20 20 15 30
LT - B @@ 1,600 —EHE @ 1,400 @ 1,400 ® 1,400 @ 1,400 ® 1,400] (® 1,400 @ 1,400 B 1,400 @ 1,400 D 1,000 12 R
1,100 1,000 400 — — — — 300 — — — 300
5 E g: 385 B = 350 A Mt FOANOE A OE t+ B 1055 # A # t & 105
104248 M 20,8 200 o80% & 8 B o8 /oM@ | 4 e0M kA { M B 60 9,520
(A) |# Rl 110 5 100 40 - = = = 30 = = = 30
55 50 20 15 15
LT - B @ 1,800 @ 1,600 @ 1,600 ® 1,600 @ 1,000 ® 1,600 G 1,400 @ 1,400 3 1,400 @ 1,200 ® 1,200 11 R
1,200 400 — — 400 300 300 — — 500 —
6 B £ _ 40 = 140 # 5 140 05— 105= $ = & 2 — 175 = 4
108258 5 240 @ 80M 1§ 8 80 60 60 % & M I % % 100 #®E #® 8,500
(R |& 5l 120 40 = = 40 30 30 = = 50 =
60 20 20 15 15 25
AEoThE | & 12.5 | #H 5] 125 30.0 |
HE T 24 A 100 100 100 100 100 63 100 200] 150] 100
6, 290 5,610 8, 336 8, 500 8, 840 12, 750 4,250 19, 380 73, 956
88 35 88 210 420
AT S A E 2,660 3,990 7,710 9, 800 13, 780 12, 758 1,000 9, 765 61,523




